<& eurofins

Requested by

Order

Contact person

Report no EUFI29-19003997-T2

Expert Services 1(6)

Avant Tecno Oy
Ylotie 1 o
FI-33470 YLOJARVI

IVX7PT190027-01

Eurofins Expert Services Oy
Kari Maunula

Vakolantie 55

FI-03400 Vihti

Tel. +358400-770784

Email KariMaunula@eurofins.fi

Assignment

Earth-moving machinery — Roll-over protective structures

ROPS test report for ISO 3471:2008

v,
s O
iscwx FINAS
éﬁf Finnish Accreditation Service
“nfS T001 (EN ISO/IEC 17025)

Avant 850/860i

The results are only valid for the tested sample(s).
This report may be published in its entity, parts of it only with a written permission by Eurofins

Eurofins Expert Services Oy, VAT ID FI22975132



<& eurofins

1 Identification

1.1 Machine

Type

Manufacturer

Models

Serial number

Machine frame part numbers

1.2. ROPS

Manufacturer
Model

Serial number
ROPS part numbers

2. Information supplied by manufacturer

Maximum recommended mass
Location of DLV

3. Criteria

Lateral load force
Lateral load energy
Vertical load force
Longitudinal load force

FINAS

Finnish Accreditation Service
T001 (EN ISO/IEC 17025)

Report no EUFI29-19003997-T2

2 (6)

Wheeled earth-moving machine
Avant Tecno Oy

Avant 850, 8601

proto

A437664

A21732

Avant Tecno Oy
Avant 850/8601
proto

A433787 P03
A434150 A
A434200 PO1

4000 kg
A439233

24.0 kN
4.0kJ

78.4 kN
19.2 kN

The results are only valid for the tested sample(s).

This report may be published in its entity, parts of it only with a written permission by Eurofins

Eurofins Expert Services Oy, VAT ID FI22975132



%:‘C eu rofl ns Report no EUFI29-19003997-T2
Expert Services 3 (6)

4. Test results

The following force and energy levels were achieved or exceeded with no penetration by the
ROPS structural member or the simulated ground planes (where applicable) into the DLV.

4.1. Lateral loading (left-hand side)
Maximum force attained after the energy requirement
was achieved or exceeded 24.1 kN
Absorbed energy attained 4.1KJ

4.2.  Vertical loading
Maximum force attained 80.2 kKN

4.3. Longitudinal loading (from rear)
Maximum force attained 21.7 kN

4.4. Temperature
The test was performed with ROPS and machine frame members soaked to -18 °C.

4.5.  Use of special suspension or shock-absorption system

Manufacturer Mecanocaucho
Model Cab mounts 105016 45 Sh
Product Identification Number 137301

4.6. Force-deflection curves for loading tests

Siirtyman Reset + | - 472019 i lipsahdus arvot |
siiryma 121 mm Avant Tecno side loading "
) |kursorin siitymé 0 mmfkek sityma 318

..... N i
s 289 W) e - = = B ) & = = =
Tavoitevoima 24,0 kN -

55 +f 150
Tavoite-energia 4,00 kJ i |

50
Kon.paino(energia) 3100 kg

45 ' 125
Kon.paino (voima) 103 kg | 4,

10,0

Maksimi voima 241 kN | ¥

30
Waksimi siirtyma 261mm 75

2%
TULOS (energia) 4,07 kJ - /

50

TULOS (voima) 241kN 15 /

w == _
Kon.paino (energia) 4071kg H i

5
Kon. paino (voima) 4668 K

pa g , L] 00
Palautuva | - —MS SR, |LM 150 2 2;0 00 350 40 450 5‘;:"'
Mittaus 3 | Print Lopetus ” o e
Sy, i
M FINAS The results are only valid for the tested sample(s).
%/ 7N\ finnish Accreditation Service This report may be published in its entity, parts of it only with a written permission by Eurofins

Q
MRS T001 (EN ISO/IEC 17025)

Eurofins Expert Services Oy, VAT ID FI22975132



<% eurofins

Expert Services

Report no EUFI29-19003997-T2

fons [ et e oo v
RESET Isot sylinterit ] Avant puristus
Ui Kello Voima
50
25 75 s
o//r*\\\wo 11:24:22 22,8kN
\ =
29 %
Koneen massa
4090 kg
Tavoitevoima L
78,4kN
Maksimivoima
80,2kN|| 75 -
Painemittari
75 e 225
50
5,
3
Alkaa
Tulostus o
| | |
0:00 230 5.00 7:30
Lopetus e 5_,,,- e [T [T min's
Siirtyman Reset I + = 72019 Fpearhis Revor I
sii 18mm Avant Tecno rear loading
02 kN kursorin siirtyma 0 mmfkok. satyma 93 mm
i kursorin energia 0,00 kJ [Ponalukema 76
Energia 0,50 kJ .- * £} s 100 125 150 15 0 zs T o
Tavoitevoima 19,2 kN —
56 125
Tavoite-energia 0,00 kJ
L L R A e O
Kon.paino(energia) 756 kg
<2 100
Kon.paino (voima) 42 kg %
Maksimi voima 21,7 kN| | * 4
»
Maksimi siirtyma 79mm
2
TULOS (energia) 093k | A i
TULOS (voima) 215k | /V
. S
Kon.paino (energia) 1246 kg / /
s /
Kon. paino (voima) 4481kg j;é/
0 - 00
T
50 100 150 200 250 300
Palautuva |
Gopa m—voms i s—iaeg mm
Mittaus D
== o =

S,

”,

s,
W

|

at

Finnish Accreditation Service
T001 (EN ISO/IEC 17025)

\
")

(ARG e D
“raf 1 W

o
FINAS

This report may be published in its entity, parts of it only with a written permission by Eurofins

The results are only valid for the tested sample(s).

Eurofins Expert Services Oy, VAT ID FI22975132



L ] = _ K
%.:to eu rofl ns Report no EUFI29-19003997-T2
Expert Services 5 (6)

4.7.  Photo of specimen

Test specimen before the tests and after each test criteria (lateral, vertical and longitudinal).

R
\/

1
\

(A)
FIN AS The results are only valid for the tested sample(s).
T~

= o Finnlsh Acoreditation Service This report may be published in its entity, parts of it only with a written permission by Eurofins
Dl AN T001 (EN ISO/IEC 17025)

ay
“hl,

&

Eurofins Expert Services Oy, VAT ID FI22975132



Steu rofins Report no EUFI29-19003997-T2
6 (6)

5. Attestation statement

The minimum performance requirements of ISO 3471:2008 were met in these tests for a

maximum machine mass of 4000 kg
Uncertainty of measurements (k=2) 1 %
Date of test 04.07.2018

Vihti, 31.12.2019

f~ (M SE

Kari Maunula
Consulting Expert

Appendices A437664
A21732
A433787 P03
A434150 A
A434200 PO1
A439233
Distribution Customer electronically approved
Archive electronically approved
Sy,
ilaé/m FINAS The results are only valid for the tested sample(s).
///\//_A\\\: Finnish Accreditation Service This report may be published in its entity, parts of it only with a written permission by Eurofins
AR T001 (EN ISO/IEC 17025)

Eurofins Expert Services Oy, VAT ID FI22975132



© This drawing is the property of Avant Tecno Oy.

- MPi 29.10.2019 |[Hyvaksytty tuotanftoon - Approved for production

11 12173 6 KUUSIORUUVI ZN M12x55 DIN 931, 8.8
10 12171 6 KUUSIORUUVI ZN M12x45 DIN 931, 8.8
9 12324 | 12 Kuusiomutteri ZN M12 Nyloc DIN 985
8 71691 | 24 ALUSLEVY ZN M12 DIN 125 @13/82L4 -2.5
1 72199 L KUUSIORUUVI ZN M16x90 DIN 931, 8.8
6 72330 3 Kuusiomufteri ZN M16 Nyloc DIN 985
5 71696 7 ALUSLEVY MUSTA M16 DIN 125 817/830 -3
L [AL3T665| 2 Jalka Efu Kumifyynyn Hifsauskokoonpano HYTTIGT
3 [AL38392] & Prikka Hyfin apurunko Avant 800
2 |AL3T663| L Tarinaneristin, Cabin mount 105 Mecanocaucho 137301
T [AL3TISL] 1 Apurunko Hyfin Avant 800
Osa| Piir.No. | Kpl Nimitys 1 Nimitys 2 / fuofe
- roleroimat Leikkuu ISO 9013 | Pinnan suojaus tai k&sittely Valmistustapa Sivu
oleroimat- .
- tornat mitat |KONeistus ENIS0 22768 - mK Kokoonpano 171
Hitsatut rakenteetEN IS0 13920 - C
Pvm. |Suunn.| Suhde: [tiittyy R-a-koodi
09.09.2019] MPi | @ 1:8 Materiaaliméard.
DETAIL A Nimitys Massa | Piir.No 16.12.2019 14.21.54 Rev.
SCALE1:5 DETAIL B ; Apurungon Kokoonpano
< uote : -
AVANT TECNO OY | HYTTIGT

© This drawing is the property of Avant Tecno Oy.



- PVe

06.05.2019

Nivelkorvaketta A434398 muokattu

Sailio hitsataan
Fiiviiksi ja puhdisteftaan
sisalta ennen maalausta

645

}

Y

L8

5Tk

}

||

}

M16-ruuvit voi jafftaa paikoilleen
maalauksen ajaksi

SIVU 1/3

25 [AL32964] 2 NITTIMUTTERI M8, TERAS KUUSIO, MATALA, SULJETTU
2L | AL30193] 2 ALUSLEVY ZN M16 DIN 125 @17/@30 -3

231 72191 | 2 KUUSIORUUVI ZN M16X 40 DIN 933, 8.8

22 [ AL29261] 1 RINTAPELTI AVANT 800

21 [ AL20635] 1 PUSKUTUEN KIINNIKE, PITKA AVANT 700

20 [AL28737] 1 LOISKELEVY, HYDRAULISAILIO AVANT 800

19 [AL34398] 1 NIVELKORVAKE HITSAUSKOKOONPANO AVANT 800

18 | AL9T755 | 1 ALANIVEL KP AVANT 700

17 [ AL22296] 1 YLANIVEL, HITS.KP, ETURUNKO AVANT 800

16 | AL21992] 2 MUHVI, G 1/2"

15 [AL20700] 2 KIINNITYSKISKO, AJONVAPAUTUSLOHKOLLE AVANT 500...700

1 | ALB27T | 2 LENKKI AVANT 600

13 [AL28LLY] 1 ETUPOHJA ETURUNKO AVANT 800

12 | AL10131] 1 HOLKKI AVANT 700

1 [AL29333] 2 KULMATUKI, ETURUNKO AVANT 800

10 [AL22277] 2 AJOMOOTTORIN LAIPPA, ETURUNKO AVANT 800

9 | A7 | & KIERREHOLKKI M8x12 AVANT 600

8 | ALTI31 | 1 TAYTTOPUTKI AVANT 600

7 |[AL28400] 1 KAANTOSYL.KORVAKE, ETURUNKO AVANT 800

6 | ALT130 | 1 IMUPUTKI AVANT 600

5 [AL23315] 1 SIVULEVY, VASEN, ETURUNKO AVANT 800

L [AL22278] 1 SIVULEVY, OIKEA, ETURUNKO AVANT 800

3 [AL22279] 2 SIVULEVYN VAHVIKE, ETURUNKO AVANT 800

2 |AL22275] 1 SAILION POHJA, ETURUNKO AVANT 800

1 [AL22276] 1 SAILION KANSI, ETURUNKO AVANT 800
0SA| PIRNO. [KPL NIMITYS 1 NIMITYS 2 / TUOTE

) Meistotekniikka SFS 4012 Pinnan suojaus tai kasittely R-a-koodi
foleraimat I\ qstyaminen SFS 4011 Keski boes Osto-osg
tomat mitat Maalaus, vihrea RAL6018
Hitsatut rakenteet SFS 3393 B D

Pvm

Suunn.

05.12.2016

OHa

Suhde;| Liittyy
— 1.
SICIRE:

Materiaalimdadré brt.

Ent. piir.

Uusi piir.

Lo/
AVANT FJECNO  [Toore

Nimitys

ETURUNKO HITS.KP  AVANT 800

224 887 kg A 2 {

PAINO |Piir.No 6.5.2019 17.03.42

1372-




PVe

06.05.2019

Nivelkorvaketta A434398 muokattu

A

>

A

im

> §

SIVU 2/3

/ f ° ¥ )
9/ alk N\ 563
SECTION A-A
) Meistotekniikka SFS 4012 Pinnan suojaus tai kasittely R-a-koodi
Toleroimat- " ; SFS 401 Kesk Osto-0sd
tomat mitat | Lasfuaminen eskl Maalaus, vihred RAL6018 I:l
Hitsatut rakenteet SFS 3393 B

Materiaalimdadré brt.

Lo/
AVANT TECNO

ETURUNKO HITS.KP  AVANT 800

Tuote

Pvm. |Suunn.| — Suhde:| Liittyy
05.12.2016| OHa I\,@ 16 Ent. piir. Uusi pir.
Nimitys PAINO |Piir.No 6.5.2019 17.03.42

224 887 kg

A211372-




PVe

06.05.2019

Nivelkorvaketta A434398 muokattu

e ° @ -] =] 1
o e -
| B /£
e |1 | ||
\\ ab
ab
i | [=] (=]
bdgl'\ o o
° ‘o
a] a] a
| I e |
a3
s | | :
ab N 54

590

SIVU 3/3

18 193

(

6L L

©

153

—
—

574k

SECTION B-B

Y

1

Y

Toleroimat-
tomat mitat

Meistotekniikka SFS 4012

Pinnan suojaus tai kdasittely

R-a-koodi

Osto-0sd

Lastuaminen SFS 4011 Keski

Maalaus, vihrea RAL6018

Hitsatut rakenteet SFS 3393 B

]

Materiaalimdadré brt.

Pvm. |Suunn.| — Suhde:| Liittyy
05.12.2016| OHa I\,@ 16 Ent. piir. Uusi pir.
Nimitys PAINO |Piir.No 6.5.2019 17.03.42

Lo/
AVANT TECNO

ETURUNKO HITS.KP  AVANT 800

Tuote

224887 kg

A211372-




© This drawing is the property of Avant Tecno Oy.

15271

O ¢

SECTION A-A

P03| MPi 20.11.2019 |Hyvaksytty tuotantoon - Approved for production
A MPi 02.11.2019 |Hyvaksytty tuotantoon - Approved for production
- MPi 05.09.2019 |Hyvaksyfty fuotantoon - Approved for producfion
B 1386,5 -
E i 15
A = ——Eﬁ._

D B =

[N

Al . A \\ i | |

33 \I |\ I

1L
— ,"Ih_“l"\ ——

10
o (-]
2 . 17
] .
) o ¢ N
o (]
9 °
: . 16
o
@ 18 DETAIL B
SCALEA: 10
37 | AL38613] 1 Korvakko Sivulasin kahva HYTTIGT
36 |AL36896| 2 Vaarnaruuvi M10x 40 DIN 939-8.8
35 | AL36366| 10 Niittimutteri M4, teras kuusiokulm. kanta avoin
34 [ALZ25306] 2 Niitfimutferi M6, Teras pyorea pienikanta, avoin
33 | AL36041] 1 Kahva HYTTIGT
32 |AL36040] 1 KANNAKE KUMIPUSLA HYTTIGT
31 |AL36039] 1 KANNAKE KUMIPUSLA HYTTIGT
30 [AL2L4985] © Niiffimutteri M8, feras pyorea pienikanfa, avoin
29 | AL35195| 2 Ulkokahva Vasen HYTTIGT
28 [AL3L5972] 1 Paafylevy Tuulilasin alareuna HYTTIGT
2T [AL3LLT2] 2 Tukilevy Laffiamatfo HYTTIGT
26 |AL3L332] 1 Reunavahvike HYTTI GT
25 [AL3L2TL] T Vahvike B-pilari oik HYTTTGT
2L |AL3L266| L Kiinnike Verhoilu HYTTIGT
23 | AL12293] 1 YLAKIINNIKE HYTTI DLX
22 [AL3LZ2LE] 1 Kaffolevy HYTTTGT
2T TAL3L235] 1 Pohjalevy Lukkokieli HYTTTGT
20 | 74755 2 HITSAUSMUTTERI 6K M10 DIN 929
19 TAL3LTS3] 1 OHJAIN Turvavyo HYTTTGT
18 [AL3LTLO] 1 Vahvike B-pilari vas HYTTTGT
17 |AL34203] 1 Kannake Lattiamafon Peilikuva A434165 HYTTIGT
16 | AL34165] 1 Kannake Laftiamaton HYTTIGT
15 [AL34TT6] 1 MAJAKANKANNAKE HYTTIGT
14 |AL3L202] 1 ALAKYLKI, VASEN HYTTIGT
T3 [AL3LTS5] 1 Alakytki, oikea HYTTIGT
12 |AL34099] 1 Tuulilasin alareuna HYTTI GT
T TAL3LT50] 1 HyTin fakaseina Hyfti GT
10 |AL32997] 1 Kulmavahvike HYTTIGT
9 [AL3L204] 1 Hyfinlippa Peilikuva AL3286THYTTIGT
8 [AL3286T[ 1 Hyfin lippa Vasen HYTTIGT
T | AL32859| 1 Sivulasin kaari Oikea HYTTI GT
6 |AL3L098| 1 ETUPALKKI, YLA HYTTIGT
5 [AL327T752] 1 Oven sivulevy HYTTIGT
L [AL3L19L] 1 Istuinlaatikko Hyfti GT
3 |AL32842| 1 PUTKIPROFIILI / OIKEA / ETU HYTTIGT
2 | AL328L1| 1 PUTKIPROFIILI / VASEN/ETU HYTTIGT
T [AL3Z28L3] 1 Kafto Hifsaus kokoonpano HYTTT GT
Osa| Piir.No. | Kpl Nimitys 1 Nimitys 2 / fuofe
roleroimat Leikkuu ISO 9013 | Pinnan suojaus tai k&sittely Valmistustapa Sivu
oleroimat- : .
tomat mitat | KONEIstus SFS LOT Keski| o3 1aus, vihres RAL601S Hitsaus 1/3
Hitsatut rakenteet SFS 3393 B
Pvm. |Suunn.| Suhde: |tiftyy R-a-koodi
14.012019] MPi | @ 1:20 Materiaalimaard. KG
Z Nimitys Massa | Piir.No 20.11.2019 9.55.17 Rev.
- ook AL 33T | PO3
AVA[N]TI' TﬂE@[N]@ @V Hitsauskokoonpano HYTTI GT

© This drawing is the property of Avant Tecno Oy.




© This drawing is the property of Avant Tecno Oy.
P03| MPi 20.11.2019 |Hyvaksytty fuotanftoon - Approved for production

A MPi 02.11.2019 |Hyvaksytty fuotantoon - Approved for production

- MPi 05.09.2019 |Hyvaksyfty fuotantoon - Approved for production

@ aZ\ 25mm x 8

'\

e 3
—

wJ
L
|2== o
Al

1
]
il

St AN

aZN\ 20mm x 2

ZIRUZN

il

I

{ll

|
Il

SECTION C-C
all/

a3nN 30mm x 9

SECTION D-D

AVANT TECNO OY

Hitsauskokoonpano HYTTI GT

roleroimat Leikkuu ISO 9013 | Pinnan suojaus tai k&sittely Valmistustapa Sivu
oleroimar- n - .
tomat mitat [Koneistus SFS 0TI Keski]y - Jiaus. vihred RAL601S Hitsaus L/3
Hitsatut rakenteet SFS 3393 8B
Pvm. |Suunn.| Suhde: |tiittyy R-a-koodi
14.01.2019] MP] \'@ 1.20 Materiaalimadrd. KG
Z Nimitys Massa | Piir.No 20.11.2019 9.55.17 Rev.
AN gt
“
/ ote 0200kd A [, 3378

P03

© This drawing is the property of Avant Tecno Oy.




© This drawing is the property of Avant Tecno Oy.

P03| MPi 20.11.2019 |Hyvaksytty fuotanftoon - Approved for production
A MPi 02.11.2019 |Hyvaksytty fuotantoon - Approved for production
- MPi 05.09.2019 |Hyvaksyfty fuotantoon - Approved for production

I
Ee e —
v‘,_Y’_—-—

a2\ Hifsataan jaksoissa

|/ Pinta hiotaan sileaksi

(O Hiotaan pinnan tasoon

(O Hiotaan pinnan fasoon

Leikkuu

A [

AVANT TECNO OY

Hitsauskokoonpano HYTTI GT

90.200 kg

AL33T3

Toleroimat- fromt = 4()|1S10Ki()51k3i Pinnan suojaus tai kasittely VglmisTusTopo Sivu
fomat mitat Hitsatut rakenteet SFS 3393 B Maalaus, vihres RAL6018 Hitsaus >/3
Pvm. |Suunn.| Suhde: |tiftyy R-a-kood
14.01.2019] MPi \l@ 1:20 Materiaalimaard. KG
Massa | Piir.No 20.11.2019 9.55.17 Rev.

P03

© This drawing is the property of Avant Tecno Oy.




© This drawing is the property of Avant Tecno Oy.

A MPi 13.11.2019 |Geometria muuttunut
- MPi 05.09.2019 |Hyvaksyfty fuotantoon - Approved for production
A -
N B
M oisi I A
~ '_{
8 ~ ) 1l
°
|
1 N 4
B 817,1 B
+() 2
@53 f
g
+0,2
6,0 0,0 N
A
= [o
\ 5
.ﬁ= ! (o)
+0,2 '
25 0,0 _
DETAIL A SCALE1:5
SCALE1:5

DETAILR
1 SCALE 15
Kpl Nimitys 1 Nimitys 2
roleroimat Leikkuu ISO 9013 | Pinnan suojaus tai k&sittely Valmistustapa Sivu
oleroimat- :
tomat mitat KQnelsTus ENISO 22768 - mK Muu 171
Hitsatut rakenteetEN IS0 13920 - C
Pvm. |Suunn.| Suhde: |Liittyy R-a-kood
30.012019] MPi | @ 1:10 Materiaalimérd.
Z Nimitys Massa | Piir.No 13.11.2019 10.52.15 Rev.
T Hyfin takaseina
Z s AL3LT50 | A

AVANT TECNO OY

Hytti GT

© This drawing is the property of Avant Tecno Oy.




© This drawing is the property of Avant Tecno Oy.

a3

POT| MPi 20.11.2019 |Hyvaksytty tuotantoon - Approved for production
- MPi 05.09.2019 |Hyvaksyfty fuotantoon - Approved for production
B 1234 8
C 2070
pd
a3\
a3N 30mm x 2

=

170,0

12,1

° [
[
(-]
[ o ——
5 [AL36028] 1 Pohjalevy AYTTTGT
L [AL3L599] 1 Venftfiillin seinalevy HYTTIGT
3 [AL3L5TT| 1 Y(akiinnike HYTTIGT
7 [AL3L558[ 1 Hahlolevy Polin AYTTTGT
T [AL3L530] 1 V3litanko HYTTIGT
Osa| Piir.No. | Kpl Nimitys 1 Nimitys 2 / fuofe
. Leikkuu ISO 9013 | Pinnan suojaus tai k&sittely Valmistustapa Sivu
Toleroimat- e S i EN1SO 22768 - mK -
tomat mitat |~ Maalaus, harmaa RAL7016 Hitfsaus 1/1
Hitsatut rakenteetEN SO 13920 - C
Pvm. |Suunn.| Suhde; |tiftyy R-a-koodi
02.02.2019] ™Mpi | @ 1.10 Materiaalimadrd.
Z Nimitys Massa | Piir.No 20.11.2019 9.02.43 Rev.
T Venttili seini
/ swskd AL 34200 | PO
AVANT TECNO ©OY  |HITSAUSKOKOONPANO HYTTI GT

© This drawing is the property of Avant Tecno Oy.




>

SECTION A-A

// ) 9o

"y ] | .

— . = . | .
o . e

n a o a X |

851 _ N Bl /

L ===
I o I
T
5 [AL33T8T] 1 Hy Tt runko Hifsauskokoonpano[HYTTT GT
L [AL3Te6L] 1 Apurungon|Kokoonpano HYTTIGT
— 150376
3 |4 DLV | 1
2013 . .
2 | AL30561 1 DLV istuintaso|SIP 222mm (92+130] vast. istuinta 66155
1 A21132 1 ETURUNKQO HITS.KP JAVANT 800
Osa| PiirNo. | Kpl Nimitys 1 Nimitys 2 Nimitys 3 Nimitys &
] Meistotekniikka SFS 4012 Pinnan suojaus tai kdsittely R-a-koodi
Toleroimat- Last X SFS 401 Kesk Osto-0sd
tomat mitat astuaminen eskl I:l
Tarkennus: Hitsatut rakenteet SFS 3393 B
BECINASSIIELE 1 Pvm Suunn 1 @ Suhde:| Liittyy Materiaalim&adard brt.
Mitta 92 saadaan kun istuimen 65507/65565 SIP-pisteen korkeudesta 222 16.12.2019] OHa |~ 1:15 Enf. pir.—— [Uusi pir.
vahennet3aan DLV-hahmon SIP-pisteen korkeus 130mm Nimitys PAINO | Piir.No 16.12.2019 16.23.06
/ ; DLV-tila ROPS/FOPS levell
AVANT /TECNO | Tuote v AL 39733
Avant 800 hyfilla




	Model
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (1 : 5)
	Detail View B (1 : 5)

	Model
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View19
	Detail View M (1 : 4)
	Detail View N (1 : 4)

	Sheet1
	Drawing View18
	Section View A-A

	Sheet2
	Drawing View21
	Section View B-B
	Detail View L (1 : 6)

	Model
	Drawing View1
	Drawing View2
	Section View A-A
	Detail View B (1 : 10)

	Sheet1
	Drawing View6
	Section View C-C
	Section View D-D

	Sheet2
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12

	Model
	Drawing View1
	Drawing View2
	Drawing View3
	Detail View A (1 : 5)
	Detail View B (1 : 5)
	Detail View C (1 : 5)

	Model
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5

	Model
	Drawing View1
	Section View A-A


